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6. Session:*

Mark only one oval.

2020-21

Time allowed: 20 minutes.

This paper consists of 10 multiple-choice type of questions.
Each question has 4 alternative responses.

You have to choose the correct response against each question.

QUESTIONS Answer all the questions.

All questions carry equal marks.
There is no negative marks for incorrect answers.

7. In Europe the infidel barbarian pirates who arrived from Denmark, Sweden 1 point
and Scandinavia were known as

Mark only one oval.

Magyars
Vikings
Saracens

Arabs

8. Which Islamic pirates invaded the Mediterranean region and established 1 point
their influence in the first half of 9th century CE?

Mark only one oval.

Norsemen
Magyars
Saracens

Huns
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9. Where did the Magyars settle down migrating from the steppes of Asia? 1 point
Mark only one oval.

Russia
Venice
England

Hungary

10.  Which of the following can be considered as true about Feudalism? (I) 1 point
Feudalism was a group of institutions developed under it based on
subordination and loyalty. () ‘Beneficium” was associated with feudal
social system

Mark only one oval.

Only I is correct.
Only Il is correct.
Both are correct.

Both are incorrect.

11. Consider the following statements about Manorialism. (I) The chief of a 1 point
manor used to reap the maximum profits of agriculture done in his region.
() Demesne and tenement were two important integral parts of every
manor.

Mark only one oval.

Only I is correct.
Only Il is correct.
Both are correct.

Both are incorrect.
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12.  Which of the following is / are not correct about 'Chivalry'? (1) The word 1 point
Chivalry means militia in Latin. (2) Knights had to follow a code of
behaviour. (3) There was no place for violence in Chivalry.

Mark only one oval.

Only 1
Only 3
Only 1 and 2

None of the above

13.  Which of the following is true about ‘Romanticism'? (I)The Song of Roland 1 point
was a significant evidence of romanticism in chivalry. (Il) Knights were
expected to be respectful towards women.

Mark only one oval.

Only |
Only 1l
Both of the above

None of the above

14.  Which of following statements is / are true? (I) During the 10th century, 1 point
Europe, particularly Italy experienced trade expansion. () The expansion
of trade was mainly confined to the towns.

Mark only one oval.

Only |
Only Il
Both of the above

None of the above
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Consider the following statements: (I) According to Lewis Mumford, 1 point
monasteries of the early medieval period had become the centres of

many towns of the later period. (ll) The towns of the late medieval period

had helped to propel the economy to grow.

Mark only one oval.

Only |
Only Il
Both of the above

None of the above

Given below are two statements, one labelled as Assertion (A) and the 1 point
other labelled as Reason (R). Assertion (A): Guilds were a kind of self

interested groups. (R): Guilds used to focus primarily on the interests of

the members of the guilds. In the context of the above two statements,

which one of the following is correct?

Mark only one oval.

Both (A) and (R) are true and (R) is the correct explanation of (A).
Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(A) is true, but (R) is false.

(A) is false, but (R) is true.
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